Steuerung::fallen ()

W

pause =false &gameOver=false

kollision «false

flri< 0, bisi <4 SW=1

testePosition(xPositionBrick[i],yPositionBrick[i]+1) =true

w

kollision «true

xPositionBri

cK[i]>-1

&& xPositionBrick[i]<10
&& yPositionBrick]i] >-1
& yPositionBrick[i] <20

w

schreibeDaten()

xPositionBrick[i] <-1

&& xPositionBrick[i]< 10

&& yPositionBrick]i] >=2

w

0

spielBeenden()

4]

initialisiereStein(naechsterStein)

W

kollision =false

flri< 0 ,i<4 SW=1

dieGUl.loescheSegment(xPositionBrick[i],yPositionBrick]i])

yPositionBrick[i]=yPositionBrick{i

+1

flri< 0 ,i<4 SW=1

dieGUl.setzeSegment(xPositionBrick[i],yPositionBrick]i] typStein)




	Page 1 (untitled)

